Overlapping Similar Triangles
1) Separate the triangles and draw them with the same orientation
2) Match up the corresponding letters (use reflexive property)
3) Create a proportion and solve

1. Intriangle SEB, Aison SB,and Eison EB sothat ZE= ZBAR.
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2. Intriangle TOR, ¥ is on TR, and D is on TO so that ZTZD = /ROT.
If 7Y =2,YR =6,and TD =4, find TO.
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3. In AABC shown below, ZACE is aright angle, Eis a point on AC, and ED is drawn
perpendicular to hypotenuse 4B, If 48 =93, BC'= 6, and DE = 4, what is the length of 427 .
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4. In triangle CHR, O is on HR, and D is on CR so that £LH = RDO.
IfRD =4, RO =6, and O = 4, what is the length of CI?
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5. In the diagram below of AABC, X and ¥ are pomts on ABand 4C, respectively, such
that méAYX= m£B If AX = 2, AY =5, and YC= 4 find BX

6. In ASCL shown below, points T and O are on SU and €U, respectively. Segment OT
is drawn so that £C'= ZOTU.

If 7U= 4, OU= 5, and OC = 7, what is the length of 5§77




